Find an equation of the plane that contains the point (2,0, 1) and that is
perpendicular to the line thrQugh (1,2,1) and (2,5, 3).
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2
The equation of the tangent plane to the graph of the function f(z,y) = = — 5 at

2
(1,2, —1) is
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Ifz——-:cey ,T=u+v, y=1u?—v, find —— where u =2 and v = 3.
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The position of a particle is given by r(t) = (2, 1 — 2t, 5 + t), starting when ¢ = 0.
After the particle has gone a distance of 3, the z-coordinate is
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The number and value of the absolute maxima of the function f(z,y) = 2*> — zy +y* on

the domain 222 +2y* < 1is
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Let f(z,y) = (2 + y?)e*. The function has

a local max. and a local min. point (
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A particle is moving with acceleration tj + k. If the velocity at time t = 1 is #(1) =

- 1 —
i— 3 7, then what is the velocity at time ¢ = 0?
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